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Instructions: 1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Draw beautiful diagram where necessary.

Q1) Choose the correct option and complete the following statements : [5]
1)  Inmotivated planning, bank's monetary policy plays an important role.

A) Merchant B) Rural
C) Central D) Cooperative
11) has an important place in democratic planning.
A) Individual freedom B) Decentralization of power
C) Forced D) Monopoly
iii) The 2" five year plan of India was based on the Model of
A) Mabhalnobis B) HarrodDomar Model
C) Bombay plan D) None of these

iv) Which of the following is not matched correctly about NitiAayog.
A) NitiAayog head office: Delhi
B) Prime Minister: Chairman
C) Parent agency: Government of India
D) NitiAayogreplaced : National Development Council

v) Input output analysis is used in large quantities in ___ developed
countries.
A) Agriculture B) Trade
C) Technology D) Industrial
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[15]
‘a).  Exchange analysis
b) = Labor-oriented production system
¢) Gandhi Yojana
d) Planning and services
e) NITI Aayog
03) Broad Questions (Any Two) : [20]
a) Analyze in detail the key terms of successful planning.
b) Explain the role of National Development Council by explaining the
structure and function of planning board.
c) Whatis financial planning? Explain the pros and cons of planning.
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